
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
��

��

��

 

 

��

��

��

��������������������	
�����	
�����	
�����	
��������� ����
 

����

��������

�

 �	
�� 

 
������� 

 ������������������������

 ��
�������������������������

 �
� 

 � !
�"	��
��#
$%���
�& 

 � !
'�(���
�#��)**��+������
�& 

 ,�-�.�/��-�!�������(��������
��
0���1$%��2�%� 

��

���



� �

��������	
�����������������������������������������������������������������������������������������������������������������
��������   ������������������������ 

 

�3��/�������4 

��

∗�������������
�
����������
�������������
������ ��!�	"#$��%��

∗�"#�����	"�"�����������
�
��&'����	��������	"#$���
���(�#����!�������#!"�)!���
����������������

��

�����	"#$���*�#����

��

��

��

� ����#!"�	"#$����

� ���+��� ��	"#$��,� �-"�./�� ���#����"�	"#$����

�����	"#$�� �01���	"#$�� ����#��	"#$�� 

� ��)��2���� ��	"��34�	"#$��,�
!"��- 

 

 

 

∗�"#��
�5�4��6�����!���7����"�	"#$����������"�%��

89�"#��"��+����$#:;�<��;���=1�������
����!���	
���>3?��<1�%��

@9��AB�C����(��3;���D�������E����������3���������>3?������"��!�:��	
�%��

��

∗��������?5���"#���<��/���5�1�>���������F���
�����
!G�
�����	
��������!����1H$��I#5�����>3?���"�1�"��+�������

�"�"�J��1��$#:;�<��;����
��F����"��������!��
�%��

��

�����56��
7��78�(�9���:�(�;����

�#��F����������	"#$���K����!��/��
��LE����
�L��>������
�����
�
��	���<��/������
1�"#�����M�+������%��

G#�N�����
�
��	"#$���
��������������O�#OP��"�Q"#�����R�5��!H ���<D�����SE���0BT�U�#V��	"#$��%��

��������������������������	"#$�W���W!
��"���?W5�JWC ��W���"����W;���#W+����W���!
��"�
D�!�(�#���"�#���"�R�5��!�����#/D!�>W���������"����W�����W��

�U�#V��������#+��
��X��������
D!"��#������$��>��#/D!���Y�"#�����
�5�4��6���"��%��

��

∗������N:��
1�Z!������
��"�����	"#$���"�#���"�R�5��!���Q���W/�"����<D�����SE�����E��/����F�����?5��[���!
��"�%��K�+WT

	"#$����"�<D�����SE������"#\#�����
1���P�]����������"�1����#�����SE�����������F���JC �^_��%��

��

��



� �

�<V5��"
�!=�`�����������������������������������������a������#!"��������������������������������������������������������������������������������   �������������b��� 

� �����������������>��#/D!�JC ���5�4��6���"�
1�>3��"��!���U�#T�����"�,�����������$��>��#/D!���Y��!�-���F�W�������W�

���:����:!��E�F����6��
����
��%��

��

�������������������������<��

��

����������c�/:�����"��"�����;�F����������
1�	"#$���K���"�N�����"���	�(����F���
�L��J/E�"#��������NE�%��

� ��������������������������	"#$�W���
��]��#�W����W���[��>+E�F����"�	���"�L!����(?/E�
1�"#��M�C������#���!���	"#$���K���"�N��

��/D��
��LE�F���
�L��J/E�
��� �������O!"������������!���	"#$��������"��$������F��%��

��

� ��#+������>+E�
1��!���	"#$��������"�H4����	"#$������/��d1���
������"��������%��

aq

LD
A

+
=e
G� 

� ��������������������F���
�L��>����� 

��"�U�#T
$d$
�U��[��"#\��(E) �"����!���(W) ���#E�������F���
�L��J/E��33%�"�"�J!�d5���%��

��������������������������������������������
aq

WELD
A

33.1

)(++
=   e
G����

��

��=
�������������������������

������

� �����:��	"#$���K������d1���=����#+������>+E��#����

�>����D���U�#T��"�
��	"#$���Z!��

�"#�����H4����d1���
��X���%��

���� ������VE��<+���"��#���,�	"#$���-���#+���������	�f2

��/1�<��/��d��������3D!%��

>$����"�����"��6���"�	"#$���K���d1����"��?�������������#+���������e�#E��[��U�#T�
����#E��������������[��

�>5�4��%��

∗�d1���
��X�����4��(e) ��[e = M / P ] �
��LE�^�����d1���
�3��
���

�>������?5�	"#$����!
�g����e��E��"�J/E�]��/D��%��

��

��

I

MC

A

p
q +=min,max 

��

 

 ∗����� �"�N����
1�"#��M�C������#���! qmax  �  qa  �������%��



� �

��������	
�����������������������������������������������������������������������������������������������������������������
��������   �������������������h���� 

∗��
��>���U��:2��d1���
�3���B���3������� �����1/3����W4���H$����������?���>(\��"�� ��#�������� 6/ L�e �

�"��"����;��d1���
�3��<��"��"����������%��

∗�����
��X������������/!����
1��E�#T��"��.�������]�"��4����;��d1���
�3���
W�����
��	"

���������������"#�����
:$�Z!��"�J/E�������./���������
���L/��G����"�J/E�,���J?1��/N!�%�-���

����������������#��"�L!��F������ ������/��#E������??1���(?/E�
D/!��
��
\#E�,�����$�VWE����W!


�����"�����"#\���(�������-�������������������W/P��"�"#W��
W�5�4���WD���W��#E�����G����"�J/E�
������H$

���
��
\#E������$����������������
���B���3��� �Z!������	���	"�"���?��J/E�^!
#E���<������!#VE�

�"�N��L× b ����>���������J/E��i1������

 

 ��

���������"�NE�
�����
�b = p   �1/2 qmax (x) 

����������������������������������
����
��>:3�������
�����
�o�����X = 3×m     �  

 

�"�������	"#$���������
��"��=�/1������:�"�"�./��	"#$�������#!"�	"#$�����5�4��6��%��

∗�"#������NE����� ��#E�������>��C_��!�������%��

∗��������������E�������
��
�:�������j�"#�����������J�����k���������%��

∗"#�����M�_�
�#��������0l��_��"����"���	�(���������>$����!���"��%��

∗∗∗?5�J/E�
:��+���"���!�(�����qa�e��4�!"�"���!
�>5�4��6���"����d!�1�����	"#$����
��
���������������!�:��

�""�4�����i/����#�����"�L!��� ��!
��"�
1���6����(?/E������������!��]�� �"�
���D� %��

���

�
��`��
5��D!�k���<�������	"#$����"�k���,��?���k���-�
5����"�k�����,�	�//1�m��#��k����-��������%��

∗���������������������������W���W����>W�������W��
���W����J/E�
1�"#��������NE���#��	"#$���)�2�>3����#�N�����H4�U#����	"#$����"�

��/D��
��LE%��

��

� !
�>	��
��#
$%���
�&���

∗�
BT�5�
���N�����"�����E��/�������	"#$����"�=�!d1��������������������d�
��

"#�����
�5�4��6���"��#����:��\�K�����

����>���������^�����!���"��!�(��������������

Vu= qu  (A abec)                          ��
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                                       VC= 0.2 �C  �fc bd                   ���
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mb

P
qMAX

××
=

3

2



� �

�<V5��"
�!=�`�����������������������������������������a������#!"��������������������������������������������������������������������������������   �������������n��� 

 

� !
'�(���
��#��)**=�+������
��&��

<������!#VE��"�
1��#������	�//1�m��#��k���"�DB�2 �]�>���	���	"�"���?�

<��"��"���5����5�
��<!��E��#�� �"��"����	"#$��%��

��

∗��"������J/E�"�L!��7���Z!�
��	"#$���<��"��"��#�����5����5�<�2�

o�+��7���� �����#���]�	"#$���
�����?5��������������p�+$�
���O!"�7���


�"#�����	"#$����"����?5���(?/E�"�L!���]�0\#�%��

�^��������#����[���!
��"�	"#$���"#�����	�!"�<������!#VE��!�G����!#VE��"�
1��#�����

�>���	���^;���^����%�^����
��<D�������
������"�	"#$��mnpq ��BD��>����D���

��
��""�4���\�	"#$���
���%	���"�L!�������J/E ������������=�3�E�
��
������!���"

�e���
��X����
������"�	"#$���
���#���
��
�5�!�������mnpq �e����!���:��\�K���
��

��!�����>����%^B_�
������;#5�	�2�;�����"�e����!�a�^B_�
������+E�	�2�;���+ 2d �a�

����������%>$#(��>(\�
��K����"�N����#E�������e����!���:��\��K���
:��+�������"�

�*�.E���
����#?/���:��\d�	�2�;���adcd �
BT�5�
�����*f_��
1�d/2��:��\�K���
��

�>5�4��6���"�	���^;����#���%�����>���������K����!���"������J/E�������R�5��!���� 

v = 
db

V

0

  

a�`���o�#����N������������������������������#� �� �� �� �� �b0= 4( a + d )                        

   ∗�>���������k������������������?���k����"�����>������
��J���	�//1�m��#��k����"��%�	"#$����"����?5����

����������?5�>+E�>(\��"��"�
:��\��"�J����[���!
�%��

��e���������������
������l��):��
��	����>�����!"�����!���1����������	�//1�m��#��k�q��������a���!
�
���`���

dbFV

dbF
b

d
V

dbFV

CCC

CC
S

C

CC

C

C

0

0

0

0

4.0

2.0)1(

2.0)
2

1(

ϕ

ϕ
α

ϕ
β

=

×+=

×+=

��

b0�`��
BT�5��"�����+��o�+�d/2��#����\����o�+��
��(mm) ���

Sα�`������������������(�#��������
r�>����"�2@s�������������/r������#��������]�8t��
�#4������#���������8s���"

"#��a��
�5�4��6��%��

Cβ�`�����#���R�2�
���#��>:3�                                                  ��

∗�	"#$����>��C_�<;������`�"��4�������;�F�������	"#$���
1��"��#���"�	"#$���>��C_�����):��%�
�����1��!�:�

250 mm��
�����1��!�:��"��O������;�^�������	"#$���
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Fbr = 0.85 �c fc A1( 
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A
)   � 1.7 �c fc A1                                 
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A �  2                                                 
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���i��`�>��C_�
���/�����#!"�Z!325  mm��:!�_�����������#������Z!��"���<���80 kN�����	"�W����W���220 kN����

��/1����<����%��)�2��"��F���
�L����?51.25 m �������K����!
�
��210 kN/m
2��>W����%�����W�/1��W��������	"#$�W��%����

�,�w��H4�"G#5���� �R�2-��

Fc= 20  N/mm
2
                                                              

                                         

� �Fy= 400 N/mm
2
   

� �V = 16 kN /m
3        �F�� 

V = 24 kN/m
3
    ��������

��

��

�	"#$���>��C_30 cm�"#��R�5���%��

�	"#$�������F���*�.E��0.95   m        

 

� @AB��CD�<��

�����	�����;����[#��
�L����?5�	"#$���"#���
����	"#$�������F����
����[�E��31�
��& ���#!"�
��������������<���

�����>���������`��

qe = 210 – (0.3 × 24) – (0.95 × 16)  =  188   kN /m
2
                                                           

      

� �b= p / qe = (80 + 220) / 188  = 1.6  m                                                                      

 pu = 1.25 (80) + 1.5 (220) = 430 kN                                                                                   

 

� �qe= 430 / (1× 1.6) = 269    kN/m
2 

                                                            

k������/1  

��

��J�# ���5�4��6���"���d� = 75 mm  ��

d = 0.3 – 0.07 = 0.225 m                                                                                                    

Vu = qu [( b - a / 2) -  d ]  = 269 [ (1.6 – 0.325 / 2) – 0.225 ]                                                

Vu = 111  kN/m                                                                        

 

Vc = 0.2 �c�fc  bd  =  0.2 ( 0.6) �20 (1000) (225) × 10
-3

                                            

� Vc = 121    kN/m   >  111   kN/m                                                                            

      

���������������"�OB���
��
���% 

��

��
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��

                                                                                                        a) -L ( 
8

q
  M 2u

U = 

    kN.m    54.7 0.325) - 1.6 ( 
8

269
  M 2

U m
==
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� �                �        As =  758    mm
2
 /m               ��
�16 @  25   cm  c/c 

 

 

��#���E��������"�OB������NE 

��

�����fy = 400  N/mm
2 

   ��������= 0.0018                   ρ 

As = 0.0018 ( 1000) ( 300) = 540  mm
2
 / m                                              

Use   �12  @ 20   cm c/c 

 
 

��#����� ��"�������������`���!�DE��>���������NE���

Fbr = 0.85 �c fc A1( 

1

2

A

A
)   � 1.7 �c fc A1                                 

Fbr = 0.85 ( 0.6 ) (20) (1000 × 325) × 10
-3 

                                                                 

����0!�_��� 
1

2

A

A�"#�����
�5�4��6���"��%��

� Fbr = 3315  kN  >  Pu = 430  kN   
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��������   �������������������|���� 

 

��!���4��#�����/1��` 

�J�������+��^����
��,���#!"�
:$�-�""�4�J?1��"��!���4��#�����3���!��������!���"�OB�����(�����E�%��

Ld = k1 k2 k3  Ldb                                                                                               

k1 = 1              k2 =  1.2       k3 = 1                                                                   

Ldb = 
b

Yb

f

fd

4
   

Fb =  �1�2  fbd                                                                       

Fbd  = 0.65 �fc   =  2.91                                                                   

 

�����/���J�# ��4� ��
����?���"�OB��2db �������������%�1 = 1                                                                   


����4�d����"�OB���d1���
��d1���
BT�55db �
:$�
���!�(����"�OB���
BT�5���
����4�d��
N�;2.5  db ������%�2 = 0.85   

 � � Fb = (1) (0.85) 2.91  = 2.47                                             

Ldb  = ( 16× 400) / ( 4× 2.47 ) = 648                                                              

� �Ld = (1) (1) (1) (648) = 648  mm                          

� =- 75  = 563    mm    <  648   
2

3251600 −
  �"#\#���!���4��#�����

�Mf;�
��	"�.������90��=�/1�������/1�����!���4��#���%��

��

L dh = �1�2�3 L dhb                                                                                                                                             

 

L dhb =  
b

Yb

f

fd

4
  

Fb = �fc   = 4.5                                                                                                  

L dhb =  356   
4.5  4

(400) 16
=

×
   

� ��1= 0.7                                                                     

� ��2= 1  

��������������������=  3                                                                                           ��3 

 

� L dh =  0.7 (356) = 249   <  563   
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E�F��`�~/E��#���Z! �"�N���
��^������"450 mm ��"�OB���>?��
���35���0!�W_������	"�������]�1300 kN ����W����

�0!�_������	��
1000 kN ��/1����<��������%�
�L����?5�����:��/��F��300  kN /m
2
 �)�2��"�1.5 m ��"#W\#��

�>��%��	"#$���Z!���/1�����������N���%fy = 400  N/mm
2��

�����>�������#�������N / mm
2
 �30��� ��������� 20 N/mm

2
 �>������%              

F��	 =  16  kN /m
3 

     ,     ��� 	= 24   kN/m
3  

                                                  ���

 

 

��

� @AB��CD<��

����F���g#BC���#VC���
���4�������20 kN / m
3
 �>���������	"��������<��������
�L���$�����?5�=�!����R�5�

����`��

20
2

2416
=

+
=avgλ��

qe= 300 – 20 ( 1.5 ) = 270  kN /m
2                                                                                                                          

  

� �A = (1300 + 1000) / 270 = 8.52 m
2
              

� �A = 2.92                 use    3
m

 × 3
m 

                                                � 

Pu = 1.25 ( 1300 ) + 1.5 ( 1000) = 3125    kN                                      

� �qu= 3125  / 3 × 3 = 347   kn/m
2
 = 0.347    N/mm

2 
                              

Vu = 0.347  [ 9× 10
6
 – ( 450 + d ) 

2 
]                                                                        

 

�
5����"�k���y������	"#$���*�.E������NE��

Vc = 0.4 �c �fc  b0d                                                                                             

 

           �y������������w�\�
��w�#?/��
�3$���y������d/2"#��a��a����������������% b 0 = 4 ( a+ d)    

                                                                        ��

VC = 0.4 (0.6) �20 (4) ( 450 + d) d = 4. 29 d ( 450 + d)                                    

VU = VC                                                                                                                                                                     

 

� ��    0.347 [ 9 × 10
6
 – ( 450 + d) 

 2
 ]  = 4. 29 d ( 450 + d )                        

 

�
1�"#�����
L����
$"�N��<��
��` 

�d= 605   mm  

 h = 605 + 75 + 20 = 700 mm                                                                   

 

� ��"�OB���R�5����20�������    �������������������R�5��/���J�# �         ��
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�����������������������������������������������������������������������������������������������������������������
��������   ������������������b����� 
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V= 0.347 [ 3000 (( 3000 - 450 ) / 2) – 605 ) ] = 697470  N   =    697 kN                           

      � �� �Vc= 0.2 �c �fc  bd = { 0.2 ( 0.6 ) �20 3000 d } × 10
-3 

                              

� �Vc = 974031  N = 974   KN   >  697                                                 

 

�J���������������

 

                                                                                                  
      a) -L ( 

8

q
  M 2u

U =
 

        kN.m  282 0.45) -3 ( 
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������!��):� 

� �                                                           

maxmin ρρρ ≤≤� 

 

� �                      �   As = 0.00236 × 1000 × 605  = 1427    mm
2
 /m          

             

USE         �16 @  18   cm  c/c 
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 �#����� ������������� 

Fbr = 0.85 �c fc A1( 

1

2

A

A
)   � 1.7 �c fc A1                                 

2450

267.6
450

3000
3000

1

22

1
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1
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�	"#$���
\��������!�DE��>���������NE 

Fbr = 0.85 ( 0.6) (20) (450)
2
 (2) × 10

-3
 =  4131   kN                                                

� Fbr = 4131  kn  >  Pu = 3125  kN   

��#���
\��������!�DE��>����� 

F br=  0.85 �c fc A1 

� Fbr = 0.85 × (0.6) (30) (450)
2
 = 3098  <   Pu= 3125  

������������������4�
�DE���(?/E�)!���
���(/E����#E������#�������
1�"#�����	���?��,�!�DE��-��!�����������W���%��������W�"�OB���^W����K�W�

���6����>���������>������"#:�1����������

  79 =    
10−

== 2
3

mm
)400(85.0

)30983125(
 

f 

F  p
  A

YC

bru
s

ϕ
��

����>���������
?!���#E�����<;����`As(min )  = ( 0.005 ) (450)
2
  = 1013  mm

2
               4� 20 

   f:;�
1�
�#O�����
�:$��Q������"�OB���"��NE�
��
?!�����"�OB������
�.4"��O������;�� ��"����6����"�OB���U�#V���#% 

��

�J?1��"��!���4��#�����/1�`��

Ld = k1k2k3 L db                                                                                                  

   � � ,   K2 =1.2      ,     k3 = 1��= 1�k1 

Ldb = 
b

Yb

f

fd

4
   

Fb =  �1�2  fbd                                                                                                              ��
� �= 1          ��1��

�� �� ����2= 1.25 

� �Fbd = fbm = 0.65 �fc = 2.91                         

� �Fb= (1)(1.25)  2.91 =  3.64  > 2.91                                                       ��

L db=           687  
2.91 4

400) ( 20
=

×
           

� �Ld = (1) (1.2) (1) 687 = 825  mm                           

� Ld = (3000 – 450  / 2)  =  1275   >  825  �"#\#�����
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Ldc =  �1�2  Ldcb                                                                                                                                              

�

Ldcb  = 
bc

Yb

f

fd

4
              �

Fbc = � fc �  6.5                                                                                         

 

Fbc = � 20 =  4.47                                                                                        

 

L dhb = mm4.447
)47.4(4

)400(20
=    

 

 

� = 1                             �
�5����D��"�OB���^����K�����e
G�"�OB���^����K�������1 � 

� ��2 = 1                                                                                 

 

L dc  = (1) (1) ( 447 .4) × 10
-3  

 = 0.45  m                                                                

 

� Ldc  = 605 – 20 = 585  mm =  0.585  m >  0.45  �"#\#����

��

���(���#���"�N���$#��
���!�����"�OB����!�Ld = 585 ����!�
��"��d����#���<������%��


